
B Polynomials

4 Mok5:

)Due to heayy storm an elactricwite aot bant as shoun in

tha fraure 3t follauad rmathamatica) chape.Ansuar ha

follouing questions alous

a)Nane the shapein ahichtha wire is bent

Hou Ga there -for

the polynomialshape f the uire)

)The zunoes of the polynomia
ne

ofd) Sum t the zonoLs ot the poynomial.o

2 Obsarve the graph y= è-yz qiven in the

tgure arnd ansuer the louingguestiona.y

a) Name the qraph

b) How many zun thene tor the

olynomiad
?

)The zonces of the polynomial

4) Sum t the zanoes •f the polmomial

g-4z

)Find tha ze of the quadratic polynomial t+*x*i9,

and variby the alationshipbetuean the Znoes and tho

coatficiants

9) Find the quadeate Pyomial
whase Sum and

product

traspetiutly
quadratie pobyomials andFind the of the 6x- -4x

the relationshipbatween the znos and the coaficients



obsonve the qraph and anSuer the

Jolwing quaions below:

)Name the shape f the qraphot

b) Houw ma

there jor

the polynomial)ZoxoUof the polynomial

d)Sum q the zonoS and product

ot the zonoes of the pobynomial.

)Write the poinlsof intersectionof shape

aund x-axis

(
3 -2

-3

graph and) obsuve the and ans theanswer

follouingquestions

a) Name the shape of the qraph

) Houw many zonoes
ane thene tor

the poynomial ?)zoouof the polymomíal (to)
d)Sum ot the zunoes ot the polynomial. (o-)

�-4

obsuveth tollouinggyaph
and

-16

answr the
y

+allouing guestiona:

)Name the typa of poynomial rapresented

by the shap aragh)Houw thene tor

that potynomial ?

i)Wrta the points of intersectionshape
and x- axis.

i)what ae the Zn00S
ghn polynomia)?

v)Find the sum ot znDes and product of
of

of

polynomíal

,



1) Due to heavy storm an elactricwire

qot bent as shown in the igune

st followed a pnathematical shape.a

Anawar the tollowing questions balauw. 2

i)Name tha shoape ino which the wire

is bent ?

11) Hou many
z 100s ae thare tor

the olynomial?

i1)wrte the points ot intovsectionofaf

araph and x -axis)

iv) what ane tho zenoQsthe zenoas ot polynomial?

Find tha suSum a tha and y!

product of the ZenoesS.

lo)obsve the graph and ans w the

following uostions

Name Ghe shape o the graph
b)

Houw many
2e100S thone for

the
pobynomia))zonoes of the polynomial

ne

of) produc of the zonou o polynomial

Sum a the zonoes of polynomial)Wite the pints af intorsectionotintarsectio

graph
and X-axis?

) he graph of the Polynomialpl)
is ven

Graph intersecTs X -axis

at A(2,0) and B(-,o). Find

Zonoes t the olynonial g=pl) a

i)Polyaonia)plu)

B

y=x-&x+|2

4 S 7 8

(4,-)

y=*-6

2 4

T-2

-S



12) Obsen ven the qaph and answar

the following uestionbelow:
) Name the shape of the qraph

Palynomia

How many thane for the

)znoes of the poynomial

a) product the zenocs of the

polynomial
-3

)Sum of the zenoes t the polynomial(-t(-9af

4)Write the points of intersectionot )
graph and X -axiS.

vy'
) he gaghs ot y- P() e

gjven
in

picture belou,for

polynomials P). Fnd nunbaxs of of p(),in

each case

Some

x)

y
y' y

vy!



19) observe the graph and answ

the qusstions

graçh?a) what is the shape f the graph ?

b) what ane the zNos of polynomial?

) what is the Sum ot the zenos

af the polymomial?

ofd) what is product f the

polymomial

e) Write the point of intouetion

+ graph and
X-axis

3

-2+

3t



2 Hanks :

DFind quodraiepolynomial whosewhose sum andand product

of the 3 and 2
vaspoctivoy

ii)-and 2 ) vi),
vi),E i)-3,Js ix),-6 ) and ),-4
xii) and xiv) and v) 2 aund 54
zui) 4 and l0 vii)-4and lo uiti)o aud -3 zi)- and

))Finda quadratie polynomial whose
whose znoes ane 2 and 5

)-* and 5

))Findthe and productofSum ot the zuoes and Znoe

the quadratic polynomial 2t+ z+52x+yx+s

ii)-yx+4 i)3 iv)3x-2+5 V) -5x+ 6

vi)(a)vit) 2x-3

i)Find the zaoes ot the polynomialpl«)=*+1x+l9
iii)p)= -x-y iv) Px)=*-5

yx-6 vi) x-2 vii) *-3 viti)qx



1 Hank:

) Assartion:Sum of he zonoes fa quadrntiepolynomial
2

2x + 3x -4 is

Reasons Sum of thatha z n0e5 o a quadraticpolynomia)aberc

Assartion:Sum ZN00S
of quadraticpolynomia) t is -3

Reason:Sum o Z0N02s f quadratic polynomia)atbeteis&)Assertion:product of the noes of a quadatie polynomial
the zH02S

Reason: Product of the f a guadratie poynomialfa
aitb+C is

4) statement- 1 : -) is a factor of

statement - 2 factor of P)ifPa)=o
s) Assurtion:he polynomialp) 5x - ts a linean

Reason: he general torm ot
Iinean

poynomial

Polynomial
is ax+b

)Assartion:product of he zanoes of a 3uadratie polynomial

Reason: Sum ot the zenoes f a quadrate polynomialat bx+e

)Assartion:Tt d and g Z002s o the polynomial y,

then K+B=-4

)=ax+bx+C, suReason: For quadratiepolynomial
Sum

the zsOeS = coatficlent

coeficient

Assestion:t on voot of the quadnaticpolyomia

f)-(k-)t-1on+3,k1 is reciprocalof the othen,then

key

Reason:he praduct of rols of the quadatiepolynemial

ax'tbntc,ato is



oe thc zonoes = t3-x-,
than match the folluing:

i) p+) b) -3

)-)
A)i-a,i-x,iii-b B)i-b,i-c,ii-a )i-b,i-a,ili-c

D)i-a,ii-b,ii-c

io)Assertion:Degree of a zooa
poynomial

i6 not detined

Reason: Deqree of a non- zno ConstantConstant polynomialis o'

polynomia intersects the) Assertion: ihe graph of a linean

X-axiS at a point-

Reason: For polynomialp)of deqree 'n'the graph of

9-Pl) intersect x- ads atmost poins

12) Assextion:Jhe Sum of thethe z 102S of a polymomial

px)= 2x°-5J4x+8 iS

Reason: Sum ot the zUo ot a polynomialpo at br cz+d

) Assertion:It onoes of the polynomia),P,Y ane the znoes

P()-aatcatd then tpry
Reason: product ot the znoes f the quadraticpolynomial

14)Asartion:The polynomialfe)=x2xta has tuo realzenoes

Reason: A
quadraic pognomial

can have atmost tuo real

Zenos.

bu+e is a quadraticpolynomial ifatoIs)Assastion:a+bxte

Reason: Quadratie polynomial has dagre 2.



l6) Assevtion:Jf x, and Y ane the
zonoa

o the polynomidl

6a- 5xtl,then +Y 5

Me the z no of the cubic
polymomial

ax bcx+d,then +A1=
ne he zoes of the guadratie

polynomia atbxtc than +pb
sta�ement B: Jn the polynomials,if

agorithm

P()=g()-0)+*(*)
than it js a division

s)stotcmentA:Thne exists atleast one zeno va lue to

polynomial.
Statoment : It the maximum number ot posibla

a

olynomial
iS 3 then it is

Cubie polynomial

14) statomantA : A cubic
polynomial have atmast thxee

statement B:he degvee ot a quadhaie polynomialis not

two.

20) Statemant A: The zeno ot axtb is

statement B:he graph g axtbxtc is a
shaightlie

statumant A:he product ot z01006 ot x5x +6 is 5

statement B: A quadaie polunonial
Can have

only
Ona

Yeal zato



n)The dasyea of bi-quadralie polgomial
is

2) The
graph ot the poynomial Pl)=31+1 meets the X-axu

at the point

of the polynomial -Qnd the zaNoes -x-2.

Match the tollouwing A) P-i, 4-i)Y-ii

i) B)P-i,9-iiiy-ii
i) c) p-ii})2-i,r-ii

i6)-> D) P-itiy9-ij-j

product of zoHoes ot 2x+ 6xtm ís -) then m=

) The numbe t polynomials having
z10 as -2 nds

A) 1 ) )3 D moiS more than.a

) 3t the graph ot a polynomial does not intexsact thaa

x-axis at any point,then that polynomial has

The zonos ot -5 cne s and -s True False

3) The gaph of a polynomial is shoun
in then the numbon o is
Zesoes5 is

No -at Z10 ot the polynomial2t21-24 is

) From the graph, numbar of zaxocs doos

the
PolynonialP) haue

Zero of the
Polynomial

2x4X-6 is xe
2

A)-2 ) A B D) Allhe above

2)T 5 and -5 ane two zNOyznoes of the polynomial
+3-51-15 then its third

B)-3 c)5 D)-5



3 J the Sum o the zanoes of the polynomial

fx)= ykx -5 is b, then the value of k is

l4)f the product of zno of the plygnomial fe)-ar b la-t

then a=

is) one of the Z100S of the quadnatic polynomial

of k is(k-)r+kx+lis -3, then the value of k))) )
tb+ce+dlb)Sum zaOy o the polynomialPl)=a+ot the zrOs

1)Find the no ot zonos of tha gien quadrate polgnomials

in the digune

Al

One root ot the poynamial c)= 5*+ I3x+k is reciprocal

ot the other,then the value of k isk

a) Zou of the pdynomtal)sxt5 is A) -6 is

20) zoroesot the polynomia)ttx-6 e

iit)atb is

21) Ittwo zuNoes of °+-5x-5 ane Js and -J5, then is
third ¡S

22) The produc of tha ot yxt-6 istho znoes

two 2010eS
o the polynomial +qx-q ane 3

and -3, then is third iS

24) f the polynomial
-51+6 is

25)The value of Plx)=x+ at x=- is

26) Degreu of a polynomialx()(-)saa


